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POST SPACING

JOIST LENGTH

[ TTT—

6’ 7’ 3’ 9’ n’ - 1 13 1y 15’ 16*
JoIsY 726 16°0C | 2x6 1670C | 2x8 160C | 2x8 16"0C | 2x8 16%0C | 2x8 12*0C | 2x10 1670C 2x10 12°0C N
" 5178 | 2x6 2470c | 2x8 24-0C | 2x8 24*nC § 2x10 24"0€ | 2x10 24°C | 2x10 Z4°C 5210 160C | 2x12 24*0C | 2x10_16°0C | 2x12 16%0C | 2x12 1670C
BEAH , T - 9% | |- 2%6 | 1 - 2xB T - 2x8 | 1 - 2xB 1 - 2xB T - 2x10 . 1 - 2x10
S12€ 1.ox6 | 1-2x8 | 1-2x8 | 1-2x10 | ¥ -2x0 | 1 -2x10 | 1 - 10 1-2x2 1 v -2x10 ] V-2x12 | ¥~ 2x12
JOIST 2x6 16°0C | 2x6 16"0C | 2x8  16"0C | 2x8 16"0C [ 2x8 16"0C | 248 1270C 2x10 16"0C 2x10 12"0C
5 s17¢ | 2x6 2a70c | 2x8 24"0C | 2x8 24"0C | 2x10-24"0C | 2x10 24"0C | 2x10 2470C | 2x10 16"0C | 2x12 24"0C | 2x10 16*0C | 2x12 16°0C §2x12 16°0€
BCAR 7 - 256 | 2 - 2x6 | 1 - 2xB 1 - 2x8 1 - 2x8 1 -~ 2x8 Y - 2x10 T - 2x10
SIZE v-26 | 1-2:8 | 1-2x8 | 1 -2x10 | 1-2xi0 | 1-2x10 | 1 - 2x10 V-2x12 | 1-2a0 | Ve 2xi2 Y. 202
JOIST %6 1670C | 246 160C | 2x8° 16"0C | 2x8 16*0C | 2x8 1670C | 2xB 12"0C } 2x18 1606 2x10 12"0C
. | s12e_| 2x6 24%0c | 2x8 2470C | 2x8 24"0C | 2x10 24*0C | 2x10 24°0C %10 24"0¢ | 2x10_16"0C | 2x12 2470 | 2x10 16%0C | 2x12 16°0C 1 2x12 16°0C
6 BEAH 2 - 2x6 ¢ - 2x6 2 - 2xB 2 - 2x8 2 - 2x8 2 - 2xb 2 - 2x10 2 - 2x10 2 - 2x10 2 - 2x10
SIZE 2-2x6 |1 -2x8 | 2-2x8 [ V-2x0 | 1-2vp0 | 1 - 2400 | 3 - ox10 1 T -2z § 1 —2x2 | V-2m2 | V- 22
. JOIST 2x6 16"0C | 2x6 160C | 2x8 16"0C a8 1svgepxn 16vnc | 2x8 12°0C [ 2x10-16"0C 2x10 12"0C
w. $12E 2x6 24*0C | 2xB8 24°0C | 228 24"0C | 2x10_24"0C 2x10 24-0C } £x10_24"NC 2x10 16"0C | 2x12_24"QC 2x10 16%0C | 2x12 V6 0C | 2x12 16"0C
BEAH | Y- 2x6 | 3 - 2xb ~ 2x8 2 - 258 ¥V 2 - 2xB 7 - 2x8 2 < 3x10 | 2 -2x10 | 2 -2x10 | 2 - 2210
S12€ 2-2x6 | 2-2x8 | 2-2x8 | 2-2x10 z - axi’] 2-2q0 | 2-2x10 | 1 - ax12 | 2-2x02 | 2~2x12 | 2+ 202
JoIsT 2x6 16"0C | 2x6 1670C | 2x8 16v0C | 2xB 16"0C| 2x8 16"0C 2x8  12"0C | 2x10 ¥6“0C | . 2x10 12°0C
gt st 2x6 24°0C | 2x8 2470C:| 2x8 24°0C | 2x10_24™0C | 2x10 240C | 2x10 2470€ } 2x10 1670C 2x12 24"0C | 2x10 160¢ | 2x12 1670C | 2x12 1670C
BEAM 3. 226 ] 3-2x6 | 3-2x6 | 3 - 2:8 3 - 2x8 3 - 2x8 3 - 2xB 5o 2x10 | 3 - 2x10 | 3 - 2%10 | 3 - 2x10
S12E 5 - g} 2-2x8 | 2-2x8 | 2-2x10 | 2-200 | 2 -2x10 | 2 - 210 2 .2¢12 } 2-2x12 | 2-2x12 | 2 - 2x02
JOIST ax6 16"0C | 2x6 16°0C | 2x8 16°0C | 2x8 16"0C [ 2xB 16"nC | 2x8 12"0C | 2x10 1670C 2x10 12"0C .
g |s1ZE_| 206 2440 | 2x8 24"0C | 2x8-24"0C | 2x10 24"0C | 2x10 24"QC | 2x10 24"NC § 2x10 16°0C } 2x12 24%0C | 2x10 1670¢ | 2x12 16%0C | 2x12_15°0C
BEAM 1 - 2x6 4 - 2xb 4 - 2x6 3 - 2x8 3 - 2x8 3 - 2x8 4 - 2x8 3 --2x10 3 - 2x10 3 - 2x10 3 - 2xt0
S1IE 2 - 2x8 1 . 2x8 1.~ 2x8 2 - 2x10 2 - 2x10 2 - 2x10 1 - 2x10 2 - 2212 2 - 2x12 2 - 2x12 2 - 2x12
Jo1sT ax6 16°0C | 2x6 16%0C | 2x8 16%0C | 2x8 16"0C | 2x8 16"0C | 2x8 1270C § 2x10 16"0¢ 2x10 12"0C
o |slze | 2s6 savoc | 2x8 2470¢ | 2x8 240C | 2510 2470 | 2x10 24"0C | 2x10 24*0C } 2x10_1670C } 2x12 24°0¢ 2x10 1670¢ | 2x12 1670C | 2x12 16%0C
BEAN 4 - 3%6 | 3-248 | 3 - 2x8 | 3 - 2xB 4 - 2xB 4 - 2xB 4 - 218 3. 2x10 | 3 - 2xi0 | 4 - 2xi0 | 4 - 2xI0
S12E 13- 2x8 | 2-2x10| 2-2x10} 3 - 2xi0 | 3-2x10 § 3 - 2210 | 3-2xl0 § 2-2x12 | 3-202 | 3- 202 | 3 - 202
JO1ST 2x6 16"0C | 2x6 16"0¢ | 2x8 160C | 2x8 16°0c | 2x8  160C | 2x8 12"0C { 2x10 16"0C 2x10. 12"0C ‘
1 128 | 2x6 24°0C | 2x8 2470C | 2x8 24*0C | 2:10 240C | 2x10 24°0C } 2x10 2470C 2x10 16"0C | 2x12 24*0C | 2x10 160C [ 2x12 16"0C | 2x12 16°0C
BEAM 1-2x8 | 3-2x8 | 4-2x8 | 4 - 28 35670 | 3 - 2110 | 3-2x0 | 4 -2x10 | 4-2xJ0 [ 4-230 ] 4 - 2x10
N 2-2x00| 2-2x10| 3-2x10} 3 - 2x10 | 2-2x02 | 3 - oxiz | J-2xi2 | 3-2002 ] 3-2x12 ) 3«22 | 322
JOLST. * Yax6 16%0c | 2x6 16%0C | 2x8 1670C | 2x8 16"0C | 2x8 16"0C | 2x0 12"0C | 2x10 16"0C | 2x10 12"0C :
o eshie 2x6 2470C | 2x8 2470 | 2x8 240C | 2x10 24%0C | 2410 2470C | 2x10_24°0C | 2x10 1670C 2x12 24"0C | 2x10 16*0C | 2x12 16"0C | 2x12 16"0C
BLAM T =3x8 T 4 -2%8 | 4-2xB { 3 - 2x10 | 3 - 2x10 [ 4 - 2x10 | 4 - 2x10 4 - 2x10 _ S
s12¢€ 3. omio] 3-2x10) 3-2xi0f 2-2x12 | 3-2q2 | 3-2x02 | 3 - 22 | 3 - 2x12 | 1 -2x12 | 3-2002 | '3 - 2x¥2
JO1ST 2x6 16°0C | 2x6 16"0C | 2x8 160C | 2xB_ 16%0C | 2x8 16"0C | 2x8 12"0C } 2x10 1670€ 2x10 12"0C
oL 12| 2xs zav0c | 2x8 2470C §'2x8 2470c | 2x10 2470C } 2x10 2av0c | 7x10 24"0C | 2x10 160C [-2x12 2470C.| 2x10 16"0C | 2x12 16"0C | 2x12 1670C
13 BEAM T 7% | 8- 2x8 | 3 - 2x10] 4 - 2x10 | 4 - 2x10 | 4 - 2xi0
S12€ 3- 20000 1-200] 3-2x12] 3-2qa2 { 3-2a2 | 3-2a2 | 3 - 10 3.2x12 | 4-2x12 | 4- 212 | 4 - 2x32 ;
JoisT | - . 26 16°0C | 2x6 16"0C | 2x8 16"0C | 2x8 16*0C | 2xB 16"0C | 2x8 12"0C | 2x10 1670C | 2x10 12*0C
, L_SIZE_| 2x6 2470C | 2x8 24"0C | 2x8 24"0C | 2x10 24°0C 2¢10 24°0C | 2x10 24"0C | 2x10 16"0C | 2x12_240C | 2x10 16"0C } 2x12 1670C § 2x12 1670C
W P oemi T a- 230 | 3 -2x10] 4-2x10| 4 - 2x10 | 4 - 2xID ENG. BCAN| ING. BEAM
i€ | 3-2xi0) 3- 202 3-2x2) 3 - 26002 | 3-2xi2 3-202 | 4-2a2 | 4212 § 4 - x12 REQUIRED |  REQUIRED
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Case 1 Solution: Refer to table for joist and beam sizes.

Example: a = 12°, Post Spacing = 8'

Refer to the span-table, Joist size may‘be:either 2x8's 12" 0.C.
or-2x10's 16" 0.C. Beam size may be either 3-2k8'x or o
2-2x10’s. : .

I1 Solution: Use "a" for joist size and "a" + “"b" to
determine beam size (The length of "b" is restricted by
both the length of "a" and the size of the joists},

CExample: a = 8', b = 2', Post Spacing =10’

Find the:joist size required by looking under 8' on the -

' ~table. Joist length is indicated as 2x6's 16" 0.C. or -
2x8's 24" 0.C.  For sizing the beam, use a joist length of

10' (8' + 2' = 10') and a post spacing of 10'. The table _
indicates that 4-2x8's or 3-2x10"s are required for the beam. -

I11 Solution: Use "a" or "b", whichever is greater, to -
determine joist size. ‘Use "a" + "b" to determine the size
of Beam No. 1 and use joist length "b" to determine the
size of Beam No. 2. ' <

Example:. a = 6', b=7", Post Spacing = 9'

“The joist length (7') is determined by the longest span joist

("b"). The'table indicates that 2x6's 16" 0.C. or 2x8's 24" 0.C. .

are required for a 7' span., For Beam No. 1, use joist length

of 13* (6! + 7' = 13') and post spacing of 9'. The table
indicates that 3-2x10's.or 2-2x12's are required for Beam No. 1.°
For Beam No. 2 use joist length of 7' with a post spacing of
g'." The table indicates that 4-2x6's or 3-2x8's are

~required for Beam No. 2.

:'ﬁo. E; Nof/::

* Beam |[|Beam.

Case

Iy Solétion: Use "a" or "b", whichever is greater, to

"determine joist size. .Use "a" + "b" to.determine the size

of Beam No. 1 and "b" + "c¢" to determine the size of Beam No. 2.

. (The length of "c" is restricted by both the length of "b"
9 Y -

and the size of the joist).
Example: a = 7', b=8', ¢c=2', Post Spacing = 12°
The longest joist span is 8'; thereforé, the table indicates

that 2x6's 16" 0.C, or 2x8's 24" 0.C. are required. For
Beam No. 1, use jeist length of 15' (7' + 8' = 15*) and

- post spacing of 12'. The table indicates that 3-2x12's are

]
T

1’

i

required for Beam No. 1. For Beam No. 2, use joist length of

10" (8" + 2' = 10') and post spacing of 12'. The table

indicates that 3-2x10°s or 3-2x12's are required for

", Beam No. 2.

NOTES:__Post size must be adequate to provide full beam bearihg, ie., one-member and

e b L

two-member beams must be placed on a 4x4 post, three-member beams must be’ .
: :Placed on 4x6 or 6x6 posts, and four-member beams must be placed on 8x8 posts.

| Most of the boxes in this table contain two optional means of sup@ort. Wood

2 2. a2 e bha takla bk S a4 e -
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